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EF 5.1 (FEZRINR (convergence in probability))
(X} : BEREHG, 0: T, X BRELH

Ve >0 lim P(| X, —0|>¢)=0
n—oo

REYTID &, {X,} 0 ICHRRET B &Ly,
X0 B0 (n— o0)
em<.
Ye>0 lim P(X, — X|>¢)=0
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X, B X (n— o)
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EIE 5.1 (KREDZER (38%8]))
(X} BN IR AR 3l,
E(X,) =, Var(X,) =02 (n=1,2,...)
= n
Xn:i;Xj&u (n — o)

(FEBR IZHRE T)
B15.1 DFBE, E(X,) =p, Var(X,) =p(1 —p) DD

Xn£>p (n — o0)
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B'E (T3, 2AOME, 7TEFR)

(1) E(aX 4+bY) = aE(X) + DE(Y).

(2) X <Y = E(X) < E(Y).

(3) Var(aX) = a*Var(X).

(4) X &Y PMIL = Var(X +Y) = Var(X) + Var(Y)

(5) (FzEY T T7DOFRER) E(X) = p, Var(X) = 0?2 < 0o BSIE

P(IX — ul > k) < o®/k,
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iR 1

(,B,P) : HesRZeR]

{X,}: (Q,B,P) LOHEREHT,
X : (Q,B,P) LOHEREH

= {we W limy oo Xp(w) =X(w)} €B
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EZ 5.3 (BEUNER (almost surely convergence))
{X,}: HEREH, X BEEH
P(limy o0 Xn = X) = 1, 405

"ECcQstPE)=0,"weQW=0-F lim X,(w) = X(w)

n—00

ARWIIDEE {X,} i X ICBENGR, 7 2HE 1 TIURY 3 &
Ly,

X, ¥ X (n— o0)

En<.
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EIE (BN & FME &4 (B3 5.7, 7 5.10))

Ape) ={weQ; |X,(w) — X(w)] <e}
Bn(e) ={w e Q; [Xn(w) - X(w)| >}

EEET D ERIZEE
(i) X, 8 X (n— o0)

(ii) Ve P(lim An(e))
i)

“n—ootin €)) =1
(iii) Ve P(limy o0 Br(e)) =0

OOOOOOO
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SIERA
limy, 00 Xp(w) = X (w)

& Ye>07mst "n(n>m), | Xp(w) - Xw)| <e

& Ye>0we U m Ap(e) =lim, , An(e)

m=1n=m

o

s we ﬂ{@An(%)} (e>1/k= An(e) D Au(1/k) )

k=1 n—o0
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(i) = (i)
I C Vst P(Q) =1, w € Q = limy, 00 Xn(w) = X (w)

Qo C ﬁ{nmfln@)} C lim A,(L) (k=1,2,..)

k:1 n—oo n—oo
Vk 1 = P(Q) < P(lim, ., A.(L/F))

Ve>07kst.e>1/k
= P(lim, e An(€)) > P(lim, o An(1/k)) = 1

—n—0o0
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(i) = (i)
Agy = lim,, , An(1/k) £B L& Tk P(Ag) =1

A(k) D) A(k+1) (k=1,2,...) THDH5H

Qo= () Ap = [ lim A, (L)) &< &
= (= AL by

w € Q& limy 00 Xp(w) = X(w)
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FIE 5.8

X, X (n—>o00) = X,2X (n—oo)
(FEBRIZHRE T)

EIE 5.9 (KED#ER)

{X,}: WILIC RA—276 ICHE D FERETHI,
E(X,) = u (BRR1E)

=

S u (n— o)

X,
(B%: [HXHm AREET $6E)
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